Q12 QUIZ CONTEST AND THE GEOMETRIC DISTRIBUTION
Statistics for Business, 2019 (Prof.: Josemari Sarasola)

Starting on June 2018, Q12 has become a popular quiz contest in Spain. The program is cast via Android-iOS only
for mobile phones, everyday at 22:00. Around 100.000 people take part everyday in the contest. The goal is to answer
correctly 12 quiz questions with 3 choices about general culture and also more specific topics. Players are removed from
the day’s contest when they give a wrong answer for the first time. Players remaining after the 12th question share a
500 euros prize. Questions are easy at the beginning and become more and more difficult; at the end questions are killer:
people answer them randomly as they have no idea about it.

Let’s suppose all questions are killer. How many players on average remain until the last question and get the prize? And
what if questions are easier?
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